4+9(3x — 7) = —42x — 13+ 23(3x — 2)
H+27%-63 = ~4ax—1D » Gax- 46
Nx~-84 = 2% - &4

-54=-%54
tru:'L
TAenity
10+4(p—-5 =0
10 + Yp-20=0 Cankﬁohel
LIP.—")':-Q
L[F.b‘ow; -g_* ’Lﬂ%
P™E A W)’;ol-"
6+ 14(t —8) = 95 WJ,'E;_,W\ _I_%
[elue- 112295 C ci
|UE=[06=595 20) 5;\:;
14t = 201 - = EY
12¢ + 5(5+ 3¢) = 3(9¢c — 4)
Re 28 +1Sc = 27—~ 12
21428 = 2~
ASH — 1%
th(/lf“ gl,'(/{:a'av\

4(7d + 18) = 13(3d —2) — 11d
Q%o 472 = 3d— 2 —ud

29 7% = 28d-2¢
22/ -2t

(011 a’-n. a‘.'o{'..-‘ ol
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What you will learn about:

Solving Equations
With Fractions and Decimals

Solve:

A\ ¢ ¢ -
e =)= 1 1 g 1 1 3 -
(1 N @{}éﬁ{ (5’0‘@ @3@
= I )
V-3= 5 ax+4=5
_ AxX= |
y_7 )(-:-}i
w 1 2 3 \PP 3\ /IN\7
=4 6 -vH=v)H{-v 3/ a\H -\ -a\{ =
2yz) L M LD
120 =/0v +8v-15v ot o= 5a-Y
[A0 = Bv Suz=~lo
v="40 Gz "3
2
-5 =7 (8x +4) ;-8 =;0-1 (gX}r
_ R AT
~5= Ax+| ”(‘:}.}D‘@)Z GY)‘@q i
L= AX ’27{”101)/-[ 5 =
X="> \/-lo ="l
\/:
5x+43 X —22—525
4 E 2 " 8
2(5xr3) > Hx 3-22-5) = 92
lovre =X -lbE-40= YT
(‘,':-"'(()( -L[0=9-0?:
Y""" 2_),___.._1
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¥

1x4%= Rx-2

~Wy ~bfx

Yo fx-%
+ 2 +

&= 9%

(X-R20 = —6X+57
|ax -20=571
lAx =77

Ui+ 4 = duid

Huteq=dwin
Hutlo=Ddwtd
wilo=2

T e

%6 =9x+9
6= b¥X+8
-l4zéx
-4 _ -1
)(-: {s - --5
9" ~¢ -«
(ae-(2)t
70
X= g =30

E(ix 2) 11
4 \5

)T
‘zﬂ(% X ﬂ@ﬁ@b@

llx-'bo=55‘

JdY = 0°

- 82
X= 2
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WV=-3




{4

S

@.06%@.02)':@.2531@5)'&

Gx +o =ASX-/SO

2 = 19x~1S0
|Sa=l9x

Lo%y

0 252+0.05(x + 3]:@ 85y

25x +5(x335) =285

ASX+SEx +IS=235
TOK /IS =285
ZUK = A70
0.25n + 0.05(n +5) = 2.95

25n+5Cn+5 )2 248
25w +SnE28 =275
Sgn - 217

n=9

0.05n + 0.10(n + 7) = 355
Sn v ro@n) z35%
Snrlont 0= 35S
/5n +70 =055
[Sn = 285
n= (9

X

—

%-

X=

q

/52-

2
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